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BCQ/A-15 21138
ADVERTISING AND SALES MANAGEMENT
Paper-v
Opt. (v)
Pvt.: 90
Time : Three Hours] [Maximum Marks - {DCC. -100

Note : Attempt five questions in all, selecting at least one question
but not more than rwo questions from any unit. All

questions carry equal marks.
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UNIT-I ( gh3-I )

1. Explain the role of Communication in Advertising. How ¢can

Marketing communication be made more effective ?
9+9 (10,10)

2. "Money spent on advertising is an investment and not a waste."
Do you agree with this statement ? 18 20)
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3. What is Advertising budget ? Explain the factors affecting
Advertising budget. 4+14 (5,15)
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UNIT-II ( ehT3-11 )

What do you mean by Advertisement copy ? Explain the
requisites of an effective Ad-copy. 6+12 (7+13)
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Write short notes on the following :
(a) Advertising Appeal.

(b) Internet Advertising.

(c) Direct Mail Advertising.
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"Advertisers are discharging their moral responsibility towards
society.” Do you agree ? Explain in detail. 18 (20)
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6+6+6 (7+6+7)

UNIT-1II ( SehmE-1I1 )

“"Salesmen are made not born." Discuss various qualities of
successful salesman in this context. 18 (20)
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10.

What is Sales force motivation ? Suggest some ways to make
sales force motivation effective in sales organisation.
6+12 (7+13)
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What are the various methods of compensating the sales-

force 7 Which method do you consider the best, and why ?
12+6 (13+7)
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Write short notes on the following :

(a) Sales Budget.

(b) Sales Quota.

(c) Sales Territory. 6+6+6 (7+6+7)
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